
ELECTRICAL AND COMPUTER ENGINEERING

JANUARY 18, 1995 EE 3133: HANDOUT NO. 1 PAGE 1 of 3

1

2

0 1 2 3 4 5

xa(t)

t

1

2

0 1 2 3 4 5 t

(a) u(t)

Example 1-9: A step by step approach to the solution. The solution
given in class was a different solution than in the book.
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(b) u(t)  - r(t-1)
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(d) u(t) - r(t-1) + 2r(t-2) - r(t-3)
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(d) u(t) - r(t-1) + 2r(t-2) - r(t-3) + u(t-4)

(c) u(t) - r(t-1) + 2r(t-2)



ELECTRICAL AND COMPUTER ENGINEERING

JANUARY 18, 1995 EE 3133: HANDOUT NO. 1 PAGE 3 of 3

1

2

0 1 2 3 4 5 t

(e) u(t) - r(t-1) + 2r(t-2) - r(t-3) + u(t-4) -  2u(t-5)
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Note the shapes of the individual functions:


